Proposed NU Business Name: NAWSHAD CARPET HOUSE



Project identification and prepared by: Md. Abu Bakkar Siddique, Dakshinkhan Unit, Dhaka

Project verified by: MD. Rofiqul Islam



Brief Bio of The Proposed Nobin Udyokta			
Name	:	MD NAWSHAD ALI	
Age	:	13-10-1989 (26Y <i>ears</i>)	
Education, till to date	•	Class Eight	
Marital status	:	Married	
Children	•	Nil	
No. of siblings:	•	1 Brother & 4 Sisters	
Address		Vill: 955/1 Uttarkhan P.O Uttarkhan High School P.S: Uttarkhan , Dist: Dhaka	
Parent's and GB related Info (i) Who is GB member (ii) Mother's name (iii) Father's name (iv) GB member's info		Mother Father SAHANAJ BEGUM MD SAHAB UDDIN Branch: Uttarkhan, Centre # 23 (Female), Member ID: 3033/1, Group No: 09 Member since: 10-08-2011 (05 Years) First loan: BDT 10,000 /-	
Further Information: (v) Who pays GB loan installment (vi) Mobile lady (vii) Grameen Education Loan (viii) Any other loan like GB, BRAC ASA etc		Existing loan: BDT 15,000/-, Outstanding loan: 12,288/- Father No No No	

BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation(Besides own business, i.e., persuading further studies, other business etc.)	:	Nil
Business Experiences and	:	10 years experience in running business.
Training Info	:	He has training
Other Own/Family Sources of Income	:	Nil
Other Own/Family Sources of Liabilities	:	None
Entrepreneur Contact No.	:	01629-037456
Family's Contact No.	:	01557-717141
NU Project Source/Reference	:	Grameen Shakti Samajik Byabosha Ltd. Dakshinkhan Unit, Dhaka

BRIEF HISTORY OF GB LOAN UTILIZATION BY HIS FAMILY

SAHANAJ BEGUM joined Grameen Bank since 05 years ago. At first she took BDT 10,000 loan from Grameen Bank. She gradually took loan from GB. Utilize loan in business.

Proposed Nobin Udyokta Business Info		
Business Name	:	NAWSHAD CARPET HOUSE
Location	:	Balurmath, Gazipara, Uttarkhan, Dhaka-1230
Total Investment in BDT	:	BDT 170,000/-
Financing	:	Self BDT 70,000/- (from existing business) 41% Required Investment BDT 1,00,000/- (as equity) 59%
Present salary/drawings from business (estimates)	•	BDT 5,000/-
Proposed Salary	:	BDT 5,000/-
Size of shop	:	16 ft x 10 ft= 160 square ft
Security of the shop	:	BDT 15,000/-
Implementation	:	 Manufacturer of carpet & mates. Average 35% gain on sales. The business is operating by entrepreneur. Existing three artisans. After getting equity fund two artisans will be appointed. Collects Fabrics and goods from Chakbazar & tongi. The shop is rented. Agreed grace period is 3 months.

Existing Business (BDT)			
Particular	Monthly	Yearly	
Revenue (sales)			
Carpet	120,000	1,440,000	
Total Sales (A)	120,000	1,440,000	
Less. Variable Expense			
Jute, Velvet, Thread etc	78,000	936,000	
Total variable Expense (B)	78,000	936,000	
Contribution Margin (CM) [C=(A-B)	42,000	504,000	
Less. Fixed Expense			
Rent	2,500	30,000	
Electricity Bill	500	6,000	
Mobile Bill	300	3,600	
Salary (self)	5,000	60,000	
Salary (staff) (3)	24,000	288,000	
Entertainment	300	3,600	
Transportation	2,000	24,000	
Total fixed Cost (D)	34,600	415,200	
Net Profit (E) [C-D)	7,400	88,800	

Investment Breakdown			
Particulars	Existing	Proposed	Proposed Total
Velvet Carpet (8 x 1400)	11,200	0	11,200
Jute Carpet (10 x 680)	6,800	0	6,800
Velvet Mates (8 x 700)	5,600	0	5,600
Jute Mates (3 x 650)	1,950	0	1,950
Velvet	10,000	30,000	40,000
Jute	8,000	20,000	28,000
Thread	6,450	10,000	16,450
Hand Loom (2 x 10,000)	20,000	0	20,000
New Hand Loom (2 x 20,000)	0	40,000	40,000
Total	70,000	100,000	170,000

Source of Finance



Financial Projection (BDT)				
Particular	Monthly	1st Year	2nd Year	
Revenue (sales)				
Carpet	180,000	2,160,000	2,268,000	
Total Sales (A)	180,000	2,160,000	2,268,000	
Less. Variable Expense				
Jute, Velvet, Thread etc	117,000	1,404,000	1,474,200	
Total variable Expense (B)	117,000	1,404,000	1,474,200	
Contribution Margin (CM) [C=(A-B)	63,000	756,000	793,800	
Less. Fixed Expense				
Rent	2,500	30,000	30,000	
Electricity Bill	500	6,000	7,000	
Mobile Bill	400	4,800	5,500	
Salary (self)	5,000	60,000	60,000	
Salary (staff) (5)	36,000	432,000	432,000	
Entertainment	300	3,600	4,500	
Transportation	3,000	36,000	38,000	
Non Cash Item				
Depreciation	333	4,000	4,000	
Total Fixed Cost	48,033	576,400	581,000	
Net Profit (E) [C-D)	14,967	179,600	212,800	
Investment Payback		60,000	60,000	

Cash flow projection on business plan (rec. & Pay)

SI#	Particulars Particulars	Year 1 (BDT)	Year 2 (BDT)
1	Cash Inflow		
1.1	Investment Infusion by Investor	100,000	
1.2	Net Profit	179,600	212,800
1.3	Depreciation (Non cash item)	4,000	4,000
1.4	Opening Balance of Cash Surplus		123,600
	Total Cash Inflow	283,600	340,400
2	Cash Outflow		
2.1	Purchase of Product	100,000	
2.2	Payment of GB Loan		
	Investment Pay Back (Including Ownership Tr.		
2.3	Fee)	60,000	60,000
	Total Cash Outflow	160,000	60,000
3	Net Cash Surplus	123,600	280,400

SWOT ANALYSIS

Strength

Employment: Self: 01 Family:0 Others:05

Experience & Skill: 10 Years

Quality goods & services;

Skill and experience;

WEAKNESS

Lack of Capital/Investment

OPPORTUNITIES

Huge demand Location of shop; Regular customers;

THREATS

Theft

Fire

Political unrest

Pictures

































7272

ট্রেড লাইসেন্স

তারিখ ঃ -০৯/০৩/২০১৬

নবায়ন নং

(ইউ, পি, ৭ নং ফরম, ১২ (১) নং বিধান দ্রষ্টব্য)	
প্রতিষ্ঠানের নাম ঃ - নওশাদ-কার্পেট-হাউজ	
মালিকের নাম ৪ মোঃ নওশাদ আলী	
পিতা/স্বামীর নাম ৪ মোঃ শাহাবউদ্দিন	
মাতার নাম ৪ শাহানাজ বেগম	
ঠিকানা ঃ ৯৫৫/১, উত্তরখান (গাজীপাড়া), উত্তরখান, ঢাকা-১২৩০ ৷	
	_
প্রতিষ্ঠানের ধরণ ঃ কার্পেট বিক্রয়	
এলাকা ৪ উত্তরখান ওয়ার্ড নং - ০১	
লাইসেন্স ফি ঃ ৫০০/- (পাঁচশত টাকা মাত্ৰ)	
বিজ্ঞাপন ফি ঃ	
্ৰবায়ন ফি.ঃ	. <u></u>
জরিমানা ঃ মূসক কর বাবাদ = ৭৫/- (পঁচাত্তর টাকা মাত্র)	
উল্লেখিত নির্ধারিত ফি/ ফি সমূহ বুঝিয়া পাইয়া ১ জুলাই ২০ ১৫ হইতে ৩০ জুন ২০ ১৬ পর্য	ङ

মোঃ ক্রান্ত্র ক্রিনির চেমার্মান উল্লেখন ইউনিয়ন পরিষদ উল্লেখন, চাকা। উত্তরখান ইউনিয়ন পরিষদ

VEGO AND SAN



গণপ্রজাতন্ত্রী বাংলাদেশ সরকার Government of the People's Republic of Bangiadesh

NATIONAL ID CARD / जाजीय शतिहस शव



মোঃ নওশাদ আলী নাম:

Name: Md. Nawshad Ali

পিতা: মোঃ শাহাবউদ্দিন

মাতা: শাহানাজ বৈগম

Date of Birth: 13 Oct 1989

ID NO: 2619676115175

এই কার্ডটি গণপ্রজাতন্ত্রী বাংলাদেশ সরকারের সম্পত্তি। কার্ডটি ব্যবহারকারী ব্যতীত অন্য কোথাও পাওয়া গেলে নিকটছ পোষ্ট অফিসে জমা দেয়ার জন্য অনুরোধ করা হলো।

ঠিকানা: বাড়ি নং: ৯৫৫/১, রাস্তা নং/নাম: উত্তর খান, উত্তর খান গাজী পাড়া, ডাকঘর: উত্তর খান হাইস্কুল - ১২৩০, উত্তর খান, ঢাকা



প্রদানকারী কর্তৃপক্ষের স্বাক্ষর প্রদানের তারিখ: ২৯/১১/২০০৭

FAMILY PICTURE

